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39 Y9797 & qid YT, 3, &, &, T 3K T F Fier 7= 8 | 37r9H @Ht 9rn & e
% I forad & /

Tyt go7 s7Hard & |

YT &, &, 7 3R T & Jo9] A SR 597 I T 8

YT 37 @ Y97 AT 1 3N 2 Uh-UF 3 & Y97 & | 9% IH U Ioq 37al Th
FIFTH 378/

YT § @ Y97 G&IT 3 @ 5 G1-51 37hl & I & | 599 I HTHT 30 Feg] JIF H o7
g/

YT G & J97 G&IT 6 & 15 T7-17 3h1 & F97 8 | 379 I TTHT 50 Jeg] Jeis 7
g7 8 |

YT ¢ & Y97 G&IT 16 G 21 Ti<-97< 37h] & 97 & | 399 I FTYT 70 Feq] I35
H378 1

YT T & Yo7 &7 22 & 27 YANIICHF HI9eT T SERT 3-31 3H] & J97 & | 59
Giered 3o 37 8 1

General Instructions :

(1)
(i)
(ii1)
(iv)
(v)
(vi)
(vii)
(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.

Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

YT A
SECTION A
3T I 1 38T hifGe foroes srara el = @ 9w yanfed & gehdl 2 | 1
Mention the condition under which a current can flow in a conductor.
R Tl & g ATHI <hl FAT ST | 1

List two merits of solar cells.



R IRINC)
SECTION B

3. ﬁé%ZOcmW@%ﬁF@WﬁH%WW@IOcm@W
ford 2 | 39 fow & oW g s 9t gfifars & 9w sifteeon f o=
EEIELE 2

HAAAT

fortht Uresl wream & 3vadTes i gitareT fafay | Tl arem, fSeent fue
YEATh 15 2, H T hl = 2 x 108 ms-1 B | Fata d vehrer i =1
feRat 8 2 2
List four characteristics of the image formed by a convex lens of focal

length 20 cm when the object is placed in front of it at a distance of 10 cm
from its optical centre.

OR
Define refractive index of a transparent medium. The speed of light in a
medium of absolute refractive index 1'5 is 2 x 108 ms—1. What is the
speed of light in vacuum ?

4. 8 fag & ™ 7 T et oo @ faga g yaifgd 89 W 38k =i AR
Jraehl & 399 B AN 7 | R THE (1) Yot wOn, (i) =gl & Gl %
I 3R off 3t YR &% Frahi & 3cUd B 8 ? A YRl B YU I hH
gfee Shifse | 2

It is established that an electric current through a conductor produces a
magnetic field around it. Is there a similar magnetic field produced
around a thin beam of moving (i) alpha particles, (ii) neutrons ? Justify
your answer in each case.

5.  “TAATSA T UIHTEH A T YRadd Teh IU=EH (ATaientor) rfufshar & 1”7 8
qTeft T 3TTshan 1 YTafitesh @Hishiur dd gU 36 e 6l gfsd HfST | 2

“Conversion of ethanol to ethanoic acid is an oxidation reaction.” Justify
this statement giving the relevant equation for the chemical reaction
involved.

e
SECTION C

6. TG WU H I hT 1 qfieRrsTi hl TR FEET | a9 fhw YR smaRia
(T2) B ST 2 ? SIS o TATSRT W Gl GNOTH I 3g@ HiT | 3

List three roles of forests in conserving the environment. How do the
forests get depleted ? State two consequences of deforestation on the
environment.
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7.  (a) UHfde SomeEi i FEfa 9w TE hl S et StorsiaRnersi i
frafia ger i Tawehdt Bt & | 341 ?

(b) 3T HM 7 ? A foreht wifids & sroereant 1 quf w9 & 3qew o fan
ST, 3HehT AT RO BT 2 379 IR o dmedq o gfse hifvw |
AYAT
JIAEA h IR TR W A v TR aFct g ? $Hb Hed &l Ig@

HIT | 306 B & AT HH ITERN B 2 FTH-BH B Th Bl THE
fefa |

(a) Natural water bodies are not regularly cleaned whereas an
aquarium needs regular cleaning. Why ?

(b)  What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR

How is ozone formed in the upper atmosphere ? State its importance.
What is responsible for its depletion ? Write one harmful effect of ozone
depletion.

8.  YNETE ATeieh & W 3R o Freehia & i feon Feifa @ aren gfamrgw
arTse Tem foaflan | 38 = w1 ST aR & 36 IR 919 o Hiat 3R ST
3IcqE FEh & i foun T e # hifee S foRet O % 9a | @ 3 SR
fro@ gferomad foon & foregq amr yanfea &1 @ 2 |
State right-hand thumb rule to determine the direction of magnetic field
around a current carrying conductor. Apply this rule to find the direction

of magnetic field inside and outside a circular loop of wire lying in the
plane of a table and current is flowing through it clockwise.

9. Hd & UsH ¥ oA a1t WA YR o 9@ 1 &1 FHRO & ? Th g
U Teh 1Y 3od! [fd § W & 999 i & UsH & Rl Bas W
feieha: Tafad void WehIST o W@ U9 o 99 Wl Q@I o T fohlul 3TR@
it |

ATAT
TSl ST YEhIUMH RIT 8 ? $H UIEISHT Sl ST ohich SATET IS foh (i) FRTe
% THT g AW R TG B 8, 99 (i) oo AR A /&l gdia g
7 |
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each
other and a narrow beam of white light is allowed to fall obliquely on one

of the faces of the prisms.
OR
What is scattering of light ? Use this phenomenon to explain why (i) the

Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

10. @ig g1g X foreht 3w gftfe gfshan & grar 7, ATadieq § T fohr I W HE
JEEE Y S g 1 Thfd § IWIEH] g | X 3R Y Hl IgEIHT | IS
Y 1 TEgadli 3T AR HileaH BEgiaarss & a1y Afufshanati % dgfad
Tt Tt fafEe | 3

A metal X, which is used in thermit process, when heated with oxygen

gives an oxide Y which is amphoteric in nature. Identify X and Y. Write
balanced chemical equations of the reactions of oxide Y with hydrochloric

acid and sodium hydroxide.

11.  h-afet & wem e & fore sieer freft vaa arset &1 3w+ £ |
(a) 39 UISSL HI AW AR TEEHS g e |
(b) 3T UISSL I fohl TR SR ST & ?

(c) & 39 Yod UISST ol UHI o T AT 1T 8, d1 Th H3R 319 fUug yeq
BT 7 | 38 ulitadq & fore wqfora wamafres avieor fafau |

(d) 39 390 YIS k1 hig Uk 3T 390 fAfgu | 3

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is
obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.

31/413 5 P.T.0.



12. (a)

(b)

fefafga stfufsranst =1 fafie yeert & arffertor hifsie -

(i)  AgNOg(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)

(i) CaO(s) + HyO() — > Ca(OH)y(aq)

(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)

(iv) Zn + CuSO; — > ZnSOy + Cu

frafcfigd e i dqford THTS U % 9 § AT T

“Sfem Feise, vQfifem Tethe & tfufshn sk TgUfem wss
R 9= Gohe AT 2 17

AT

9 fore el ¥ og (1) A8 1 ooty oot 350 uifiem sterse i
faer fremd 8, a1 hig 319 ST B |

(a)
(b)
(c)

(a)

(b)

31/413

3 JTI&Y T AT TT BT & ? STF&Ud Aifres <1 a9 fafge |
38 Afufshan =1 dqfera Tamfe Tt fafen |

SMITRAT & 31 & YR 1 Gt S1sT oH 39 stfufshean &1 W@ =
a1 3 |

Classify the following reactions into different types :

(i)  AgNOg(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)9(aq)

(iii) 2KClOg(s) A, 2KCl(aq) + 304(g)

(iv)  Zn + CuSO4 —— ZnSOy4 + Cu

Translate the following statement into a balanced chemical
equation :

“Barium chloride reacts with aluminium sulphate to give
aluminium chloride and barium sulphate.”

OR

6



When potassium iodide solution is added to a solution of lead (II) nitrate

in a test tube, a precipitate is formed.

(a) What is the colour of this precipitate ? Name the compound
precipitated.

(b)  Write the balanced chemical equation for this reaction.

(c) List two types of reactions in which this reaction can be placed.

13. HMd 3c8sd 97 1 3@ Wifvw it fifafgd i amifea Hifsw 3
(1) R
(i) T g9

(iii) =TS AT

Draw a diagram of human excretory system and label the following :
1) Urinary bladder

(i1) Left kidney

(i11)  Left ureter
14. (a) 9edi (W) # dfem 99 796 g, o, afe g9 Tl daeshier arew

! T R 7, dF 3Gh! aferl H V0T S I qiEdd Bid & | sawe
SHIfT foh I8 UTeU STRI 3G o W1 fohd ThR STfRAT Hal 3 IR T8
3gfshat fohe TR F=TTE Bt 7 |

(b) 3@ g &1 AW foafee freep fFefafea & faw fo s g
()  ToRe S d1Y i T § ghg o T |
(i) el TR St H Sifdwent faurs @ g &6 % faw | 3

(a) Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

(b) Name the hormone that needs to be administered to

) increase the height of a dwarf plant.
(i1)  cause rapid cell division in fruits and seeds.

15. Samw @ 8 ? Stawrdt i oy fgier w6 &1 g fafet &1 989 8 9o
HIT | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.
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W 3
SECTION D

16. (a) hIIes Yadq i afturr fafau | sweht 9 fafemt <t 9= samu |
(b) D YR & UIEUl sl ITH o foTT 38 T =1 Sy @i T imar 3 2
(c) WIfhd AR@I I Tl & TEST H Fhad i Ufshan hI =

SHifs |
AU
Ty frd wed & 2 3Rt = fafim faftet & g e | mifes gt
ITH o TR G9d R fAfgu |

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.

OR

What is contraception ? List its four different methods. State four reasons

for adopting contraceptive methods.

17. (a) Gl < ®9 H AT A0 R IS AL o s &1 = I
Tt T |
(b) e HAMMALIUT T hig IgTe0 ditere, Forerent 3w g fuifd et |
fopa Tt 2 fob 1 wdiefis 9 forshrd < wqi H Teh-git o fehad feke &,
3R IGh! SRS HIT |

(a)  List in tabular form two differences between acquired traits and

inherited traits.

(b)  Give an example of body characteristics used to determine how

close two species are in terms of evolution and explain it.

31/4i3. 8



18. (a) UEHSU 3R WigHehwr AMuGhett & =, g% & fou maafes
iRl <l wErEar 4, faved Hifv |
(b) ATHIfhd NG & Y T oM & UTsh fhIhAT 1 &9 § duiq
i | 5

AT

gTe 3R 9Tl H T A=< 7 ? Fohell a6 W ol ToehdTs & geel i g |
T <l AHTS Tkl 1 HEY § 3@ HINTT | S8 IET Sl 3K I § GHT gl
8, A1 |G 1 IYANT S5 THT F1 T8l BT ? 36 G Hl GHEH FhH T
TeRar Tar 8 2 5

(a)  Distinguish between esterification and saponification reactions
with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the
formation of an ester.

OR

What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

19. (a) 39 a AHUS! i Tl FAEY TR ITAM AUSeI® o 70 Tad aweft §

qedl o SRl § AT o | HUSH® 1 IEd fem faRaw iR =men
Hifu foh I/ A0 Aad areft d@ FEgeE W g Ffvad e
e T foha |

(b) g Aad greft # forelt (1) trad | o€ 3R & TRl 3R 9 W a9
(i) T8 (U) H SW & = I W =i o WAV & a5a § fohd
TR R 1 fa=wor (=) B & ? 5

(a)  List two criteria Mendeleev used in his Periodic Table to classify
the elements. State Mendeleev’s Periodic Law and explain why no

fixed position was assigned to hydrogen in Mendeleev’s Periodic
Table.

(b) How and why does the atomic size of elements vary as we move
(i) from left to right in a period, and (ii) down a group in the
Modern Periodic Table ?

31/413 9 P.T.0.



20. I3 AfGd A A1 H 50 e H FH U H TEGHT H1 TR T8I q@ I |

(a)

(b)
(c)

(d)

39 HAfdd o g Q¥ I AW fARIU 3R 39 3N o g1 GHTEd RO 6
RSUCELEES
IHY JeRLUT H Q1Y i ¥ o T foRtor st Eiifem |

TH Y o EIYH o [T Ik g ITAN fRU I 9T A® Rl TR
fafgu ot sueht amar afepfad $ifsie | a@ fifSe foe g 93 ==
fhe fag 25 em 7 |

Iuderd YRl U gfed g o ded < fow amifera em Eifee |

A person is unable to see objects distinctly placed within 50 cm from his

eyes.

(a)

(b)
(c)

(d)

21. (a)

(b)

(a)

31/413

Name the defect of vision the person is suffering from and list its

two possible causes.
Draw a ray diagram to show the defect in the above case.

Mention the type of lens used by him for the correction of the
defect and calculate its power. Assume that the near point for the

normal eye is 25 cm.

Draw a labelled diagram for the correction of the defect in the

above case.

forrq wifera s aftaor T | dicear V& @id % B0 @ @A9d R

gferie =T 13 foq AT g/ [t 3 | 90 R gfalie & ugi § vrfea

% foTu =iere =geaa hIfrT |

100 W; 220 V 3R 60 W; 220 V 3TIHAT & &l fagd dod qwd § 220 V

% foegq o9 @ 99 & | Sedl gl 7E | ot TRt 9 9| i |
rerE

Toreft s <ht wEEdT 9 319 I8 sy forg YRR ettt TR v diee i
foreht St @ avfiser & wanfsra o gfaiesst Ry, Ry 3T Ry & uiy &
YeIH U A g9 91 YaTEd 2t ® 2
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(b) = feu mu afmy w1 srewE o, efafaa 39 fifs .
G) 12 Q Ufdges 9§ Jariad 9 |

(i) A 3R A, TSR B =R, Il 1 7 | 5
24 Q
M
B
T v % 12 Q
T
39

(a)  Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.

Derive an expression for power in terms of current and resistance.

(b) Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the

current drawn by the bulbs from the mains.

OR

(a) How will you infer with the help of an experiment that the same
current flows through every part of the circuit containing three

resistors Ry, Rg and R in series connected to a battery of V volts ?

31/413 11 P.T.0.



(b)  Study the following circuit and find out :

(1) Current in 12 Q resistor.
(ii)  Difference in the readings of A; and Ay, if any.

24 Q
M
i
_1T 6V % 12 Q
_T
(3
R IR )
SECTION E

22, ‘WYl I WA o oA fopeht uxht <hi forgdt o1 Sreemft 1w dum s JEn Y
fafer < spHeR 9 = fafgu |

AT
“Sigha B A F1e SIS DS 27, W AN H T sEren
getd Hfiiad T94t & ST di
() B9 VAR T ol daTIEg F1 T&d & ?
(i)  SFETHR TR o WK W B WEqell § W AW drer 9gred 1 9™
3R 3ITeh! YfirRT Tafau |
(ii) T Ff 4 9t SR F= =g A @ 2

Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR

31/413 12



In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :

) Why do we keep the conical flask airtight ?

(ii1) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii)) Why does water rise in the delivery tube ?

23. 3 Y& hl T FARY ek YR W g Ty fshren S @k fob & A
TS e 1 fegue uridl B | 2

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

24, hi3 BT INIH FAREE IS H HIfeIH Tothe ISl WA 2 | 391 g1 91ssd
H i W a8 B *1 uigdd I S ? 370 IR Al gfee hifw 3

T ShifST foh o8 aifod qieds ford I ITed T Eehdl B | 2
AT
(a) fmafafgd orqett @ 3Th Afufshamfiqar & & (Jgd) A o
afeerd i
I, Teh, Tl qen st
(b) I Hewe faera # g & W i & 30 fme & wwamrq o1
FIegs U getag fohu S aTet gt Jeqont <t = A1y | 2

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.

OR

(a) Arrange the following metals in the increasing order of their
reactivities :

Copper, Zinc, Aluminium and Iron

(b)  List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.

31/413 13 P.T.0.



25. I3 fao@E X pH 99 W 3Weh! HI3 §g TR T ACH T a1 8, Faih Hig 314
faetaq v’ pH v W 38T g TR 92 goeht el T1 a1 2 | 39 gl foerAl i
TR 1 7 2 X AR Y foer=Ai o pH Feifa Hifm |
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y’

26. fefaflaa forw sm@ 1 steeq AT iR 38 e & ™ g &t T Q@
FfeAt &1 = s | foew AB i fRufa % dggEy s a9 ufdfaes 6l
aredfass feafa o T1ss @i gurid o fow @ fopwor om@ e 3 gt =

T I |
A
Nz 2F,

oF; B F, 0

AT

forelt B 1 fopelt wia & 50 & Tord arefl fohtor 1 9y omifad & 2 |
3T=® YN T A o foT 3deh g Sl STH aTefl IR SradTt==i <l g
ST |

Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

2]_:"1 B ]_:'11 9)

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.

31/413 14



27.

31/413

forelt uferiass & i W favarr 1 38 yarfza fagq o/ w fedfwar =
R i & fou fferfaa - syaen (ufwy) @& 2 e =i 2

L=
R R . b
ol ol L]
< N J R R
é‘?}—*MFI"—(J éLHFI"—(J éLHHHJ —*HHHJ
A B C D

Which one of the following is the correct set-up for studying the
dependence of the current on the potential difference across a resistor

and why ?
+_
e e e
Lugped Ly HL | Lo
iy i) Esppt) Lsphis
D

15



	Button1: 
	Button2: 


